=
n '@ Q phép chia phan sb (hon Sé)

Tén: Ngay thang: Piém:
g8 3 6 5
35 4 7
3.1 2 4
5 2 45
12;5_ 1.1
59 4 5
1;12_ 7;11_
6 4 8 4
4 1 12;3_
77 5 8
1 7 2 1
§ 9 l371=
2 1 3 6
_+2_: - = _— =
7 72 4 8
2.2 _ 6 1_
8 5 8 2
7.3 _ 6 2_
9 7 7 9
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[Ex1T]

phép chia phan s6 (hon sd)

Tén:

8 3 8
2.3.25 7
3 5 9 9
3;1_6_N

5 2 5 75
2.5_6_,13
5 9 25 725
6 4 9

7 7

1.7_9

8 9 56
2,14

7 T2 35
2.2_5

8 5 8
7;3_49_92
9 7 27 27

Ngay thang:
3,2_5_ 1
6 5 4 4
3;1_21_51
47 4 T4
2 4 5
4 5 8
1;1_5_H
45 4 4
8 4 10
2 3 56 11
578715 715
2 28
l3513= 25715
3 6
—=—=1
4 8
6,1_3_1
8 2 2 2
6.2_21_,6
79 7 7
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Piém:
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